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The question paper consists of two Sections I and II. 

Each section consists of three Groups
 Group A, Group B and Group C.

Answer all two questions from Group B of section 
I and section II. Each question carries 5 marks.

 Answer all two question from Group C of Section 
I and Section II. Each question carries 10 marks.

Answer all 10 questions from Group A of Section 
I and Section II. Each question carries 1 marks.

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Describe two- stroke petrol engine in brief. Also 

write its working principle.

       

Name different ferrous metal and their alloys  and 

write the properties and uses of any two of them in 

detail.

Write notes on the following.

(a) Pelton turbine

(b) Kaplan turbine

OR

OR

11.

10
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2

1. Choose the most suitable answer from the following

options :10x1=10

(i)

(i)Granite is an example of :
(a) Igneous rock
(b) Sedimentary rock
(c) Metamorphic rock
(d) None of these

(a) 18cm x 10cm x 8cm
(b) 19cm x 9cm x 9cm
(c) 22.5cm x 11cm x 7cm
(d) None of these 

(ii)
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Answer all Two Questions. 
10 x 2 =20

      In a worm geared pulley block, the effective 

      diameters of the efforts wheel is 250mm. The 

      worm is single threaded and the worn wheel has

      100 teeth. The effective diameter of load drum

      fixed to it is 100mm. effective diameter of load

      drum fixed to it is 100mm. If an effort of 200N 

      is required to lift a load of 12.5 KN, what is the

      efficiency of block?       

      

      200N  

10.  

10

3
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(iii)

(iii)

(iv)

Hydrated line is:

(a)  Calcium oxide

(b)  Calcium hydroxide

(c)  Calcium Carbonate 

(d)  None of these

The percentage of lime in portland cement is :

(a) 30 to 36 %

(b) 60 to 66%

(c) 80 to 86 %

(d) 20 to 30%   

(iv)
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mechanical advantage and velocity ratio for a

machine.

OR

4

(v)

(v)

cement shall not be less than:

(a) 10 minutes

(b) 15 minutes

(c)  20 minutes

(d) 30 minutes

The moisture content in a well seasoned timber

is:

(a)  10 to 12%  

(b)  2 to 5% 

(c)  20 to 25% 

(d)  60 to 70% 

(vi)

(vi)
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(vii)

(vii)

(viii)

(viii)

Plastics can be classified as:

(a) Thermosetting and thermoplastic

(b) Elastic and rigid

(c) Both (a) and (b)

(d) None of these

Flint glass is also called as:.........

(a) Potash-lead glass

(b) Potash-lime glass

(c) Soda-lime glass

(d) None of these
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Differentiate between fast and loose pulley.

of them.

is welding shop. Describe any two of them in 

brief.

OR

8.

OR

9.    

4

4
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of electricity?

(a) Aluminum

(b) Rubber

(c) Timber

(d) None of these

Brass is an alloy of :

(a) Copper and nickel

(b) Copper and tin

(c) Copper and zinc

(d) None of these

(ix)

(x)

(x)

(ix)
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(xx)

Answer all Two Questions. 
5 x 2 = 10

Mention the merits and demerits of fire tube boiters.

5

7.
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Answer all Two Questions. 
5 x 2 = 10

Define dressing of stone. Discuss the objects of 

dressing.

                         

Enumerate different stages for manufacture of bricks.

Compare fat lime and hydraulic lime.

Enumerate different methods for preservation of 

timber. Describe briefly any one method.

2.

3.

5

5

OR(

OR(

Unit of head in S.I. unit system is :

(a) Kcal

(b) Cal

(c) Joule

(d) All of the above

(a)  Diesel engine

(b)  Petrol engine

(c)  Steam engine

(d)  None of the above

(xix)

(xix)

(xx)

(xviii)
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Answer all Two Questions. 
10 x 2 = 20

4.

GROUP C

Describe the qualities of building stones.

10
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In cross belt drive, the direction of motion of

the drive shaft ............... of driving shaft:

(a) Remains in the direction as

(b) Changes the direction opposite to

(c) Both (a) and (b)

(d) None of these

(a)  Zinc chloride

(b)  Ammonium chloride

(c)  Resin mixed with alcohol

(d) Borax

(xvii)

(xvii)

(xviii)

(xvi)
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Enumerate ten types of cement. Describe any one.

Describe different types of plastics. Discuss their 

uses in engineering works.

Describe different types and uses of adhesive.

OR(

OR(

5.

10
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(xv)

(xv)

(xvi)

(xiv)

Which of the following is /are tube boiler(s)?

(a)  Lancashire

(b)  Locomotive

(c)  Cochrane

(d)  All of the above

centre distance is :

(b) Gear drive

(c) Belt drive

(d) Rope drive
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6. Choose the most suitable answer from the following

options :1 x 10 = 10

(xii)

(xi)

(xi)

SECTION II

GROUP A

In actual machine, mechanical advantage is:
(a) Greater than velocity ratio
(b) Equal to velocity ratio
(c) Less than velocity ratio
(d) Unity

where Vs = swept volume, Ve = clearance 
volume

(a)

(b)
 
(c)
 
(d) 

 Vs
Vc  
 Vc
Vs  
 Vc +Vs
   Vc  

 Vc +Vs
   Vs  

(xiii)

(xiii)

(xiv)

(xii)

 Vs
Vc  

 Vc
Vs  

 Vc +Vs
   Vc  

 Vc +Vs
   Vs  

A four stroke diesel engine sucks........during the
suction stroke
(a) Only air
(b) Mixture of fuel and air  
(c) Only fuel
(d) All of the above 

(a) Safety valve
(b) Stop valve
(c) Economizer
(d) Blow -off cock
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